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It iR Dot et of Barter Bysatem
(A} Freedom from slavery
(1) Intreare in national income

(L) Increase ih working capacity

(D) 10 be inflation

By uge of money

A Capital mobility increase

() Capital mobility decrease

(C)  End of capital mobility

() Capital mobility remain constant
The primary function of money is-

(A Value measurement

(B) Base of credit

(C)  Transfer of purchasing power
(D) Base of future payment
"Money is what money does”, is said by-
(A Crowther

(B) Hartley withers

(C)  Walker

(D) Pigue

Lesser liquidity is in-

AN M,

8 M,

(C) M,

0 M,

L

w

>
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avg R o e o B
(A) i & e

() ushry o W gl A

(@) el avren W gl

(D) el A

o wem Q-

(A g uihoen s o R
(B ol Al aftvelveren we g R
(C) Yot & wftwveren wer @) g &
() o @ wftvelioren e &
g e e R

(A) & A

(B) WW W R

(©) mu SRy iR

(D) WIR VRO W SR

‘A ¥ A g w9 R
Al X s A

(A W

(B) &y R

(C) W

(D) 9

T W o -
A M,
B) M,
(C) M,
D) M,
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10.

Standard coins becomes- 6.
(A)
(B)
(€)
(D)

Quantity of pure silver reduce in silver 7.
money in India-

A)
(B)
(C)
(D)

Meaning of managed standard is- 8.

Principal Money
Subsidiary Money
Paper Money

None of above

1940
1950
1920
1930

(A) Metallic standard™
(B) Goods sténdard

(C) Paperstandard
(D) Creditstandard

International Monetary Fund was 0.
established in-

(A)
(8)
©)
(D)

1945
1940
1935
1930

International Depression started in- 10.

(A)
(B)
(C)
(D)

1915
1920
1929
1938

AT
A

SRS R B 8-

(A) wE g

(B) Hewd W

(C) W& I

(D) T & S T

g ¥ T8 B o F gE GQ B A
g -

(A) 1940

(B) 1950

(C) 1920
(D) 1930

yEeE GEEE § ST §-

(A) &g AT

(B) &g gHm

(C) = gaEH

(D) wrE HEHAH

IS T B H T §E-
(A) 1945

(B) 1940%#
(C) 1935%

(D) 1930 #

fggamd A= W 8-
(A)

(B)
(&)

1915
1920
1929

(D) 1938
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1.

12.

13.

14.

15.

Meaning of value of money-

(A) From cost of used material in

making money

Purchasing power of money

(B)

(C, Value of payment to receive the

money
(D) Interestrate
What is relation between money and
credit money according to Fisher's

equation-?

(A) Optimum

(B) Unfavourable

(C) Fixed

(D) Variable

Limitations of Grasham'’s law is-
(A) Less quantity of money

(B) Government policy

(C) Development of saving habit

(D) None of the above

Causes of inflation are-

(A) Deficit financing
(B) Increment of development cost

(C) Decrementin production

(D) Allofthe above

By increment of Cash Reserve Ratio, the

quantity of credit creation is-

(A) Increased

(B) Decreased

(C) Atfirstincreased and then remain
constant

(D) Increase regularly

i 8

12.

138.

14.

15.

e
<P,

T & g W -

(A) T Frafor F wgeh qerf & 9ed A @
(B) IuH H4 I & &
(C) IEH Wi FA B FAH A W

T a e
(D) =T H T AL

e & gl & SgaR A 41§
UH % A9 H-a g9 -

(A)  STgReIaH

(B) fagdid

(C) Mfgea

(D) uRafda

Iy 3 faw &t dme &

(A) TH H FH AN S

(B) &R e

(C) T=d # N&d H [Hd

(D) & § Fi3 TE

T TG & FRO 8-

(A) HI¢ FH T T

(B) fawm =@ g

(C) S & fifmar o it
(D) I @

T Y AU & F61 W G fmfor
-

(A) g S @

(B) PR =it B

(C) ued T & fv few & B
(D) AR el St §

B.Com./1100



16.

g '

18.

19.

20.

SEBI was established in-
(A) 1980
(B) 1985
(C) 1987
(D) 1988

The Note issue system of Reserve Bank
is based upon-

(A) Proportional Reserve
(B) Minimum Reserve
(C) (A)and (B)both

(D) None of these

Which Bank was nationalized to create
State Bank of India-?

(A) Bank of Baroda

(B) Indian Bank

(C) Imperial Bank

(D) None of these

Micro economics is-

(A) Price theory

(B) Consumer theory

(C) Distribution theory

(D) None of these

Which is basic problems of an economy?
(A) Allocation of resources
(B) Use of efficient resources
(C) Economic development

(D) Allofthe above

e
J62

16.

17.

18

19.

20.

A W e @ o’
(A) 1080
(B) 1985
(C) 1987
(D) 1988

Rord 8w & ara yar Fobwst @t g
amenfeer &-

(A) g

(B) =i

(C) (A) 3R (B) a1
(D) I A A g T

we ¥ o gloear @ o & fou frg
d w ashaer i -7

(A &6 o adie

®) T ¥

(C) e &

(D) I # & N el
fterr ardameE @ el o B-
(A @ma ferar

(B) Iwdih Ry

(C) feeror fen=r

(D) I A el

Srdferae & gerye TR -
(A) Gl e

(B) WA & HIAAH IYET
(C) onfdfe feeprer

(D) TWH Tl
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I,

23:

22.

23.

24.

25.

Bat and ball is example of which
demand-

(A) Jointdemand

(B) Complementary demand

(C) Derived demand

(D) None of these

Internal economies of scale is-

(A) Technical economies

(B) Economies of centralisation

(C) Communicative economies

(D) None of these

From the point of view of competition

which market is not included in
classification-?

(A) Perfect market
(B) Wholesale market
(C) Imperfect market
(D) Monopoly

Economic activities require-

(A) Human factors

(B) Physical factors

(C) Both(A)and (B)

(D) Neither (A) nor (B)

Better indicator of development is-
(A) National income

(B) Per capita income

(C) Real per capita income

(D) National production

21,

22,

23.

24,

25.

e ol s R6G AT W SER 8-
(A) W w

(B) T HIT

(C) = i

(D) 79 & B &

T @ RS 9 &

A T T

(B) FNHOT H e

(C) TaR g st

(D) T | B T

iR @t gt & TR & Fiwr 7
fifhd & | @I | SR | @
3

(A) T TR
(B) 9% TEX
(C) T TR
(D) THIEHR
e rarelt & R omavaEm 8-

(C) (A) 3R (B) At

(D) (A) 3R (B) & & =g &
fea 1 o7 Gaas o-

(A) T I

(B) ufd aaRs

(C) arfa® i =fe g
(D) TS I
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o6, gt faere @G-
(A) T AT
(B) wA-aET & i gfs

Rural Development will brings-
(A)  Employment opportunities

(B) Raise standard of living

(C) Prosperity (C) HH=Tell
(D) Allthe above (D) dudren q
LPG and LNG are the example of- 27 LPG 3l LNG JETT ¢
(A) Solar energy A e ot
(B) Bioenergy (B) arar Gt
(C) Wind energy (C) 4y FHat
(D) Natural gas (D) i bl
Such demand curve is parallelto x-line,  pg e dr T a6 G x-O7H % ATt g
it represents elasticity in the following- ¥ Forst s A dre wafdfa @ 8-
(A) Infinite (A) ST
(B) Lessthan unit (B) g o
(C) Zero (C) ¥
(D) Enelastic (D) AdrEer A/
. Law of diminishing marginal utility is 29, dmrr Syafirr & Faw & g4 g
firstly used- -
(A) Moore @ R
(B) Gossen (B) g
(C) Robbins (€) e
(D) Allofthese (D) zgd |t
. Which commodities is not more 30. 59 vaR A Eﬁgaﬁ 3 oo F &0 AN A
demanded by fall in price- gir & g@ T8t ad-
(A) Luxurious commodities (A) R Eﬂﬁﬁ
(B) Reputative commodities (B) wRrErEH mg'ﬁ
(C) Giffin's commodities () fuftr ?ﬂgﬁ
(D) Mandatory commodities (D) fart mgﬁ!
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3.

32.

33.

35.

The long term production function Is
related with the-

(A)
(B) Returns to scale
(C) Both (A)and (B)
(D) None of these

Law of diminishing returns

With increase in production difference
in TC and TVC is-

(A) Decreased
(B)
(C) Fixed

(D) Everdown and up

Increased

According to Professor Knight, profit is
the reward for-

(A) Known risk

(B) Unknown risk

(C) Both(A)and (B)

(D) Innovation

Example of ‘derived demand' is-
(A) Demand for labour

(B) Demand for tea

(C) Demand for consumer goods

(D) Income demand
Statistical project is source to know
consumer awareness-

(A) Bad

(B) Sufficient

(C) Good

(D) None of these

31.

32.

33.

35.

~a~
I

dtereits oA wEe @ T B-
(A) Ffe e s &

B) & sfwa @

(C) 37y AWt (A) of (B)A
(D) & & % 7

g # gfe & wa-ue g arE ol
F uftadadia ama # awr-

(A) wear o B

(B) agan omen ¥

(C) feat 1oan B

(D) %4 wear & ot #f agar &
AGHT AIGE & SITAN, @9 G B-
(A) wma sifem &

(B) omema shfam &

(C) (A) ¥ (B) At

(D) -y #=

‘G q AT B

(A) 79 @ A

(B) =g #l A

(C) 3I9am awy # am

(D) FF =M

Hifter#t Aove ITAH SrTE & AR
# A B

(A) FT
(B) ware

(C) o=

(D) I # A Hig 7
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36.

37.

38.

39.

40.

In order to promote foreign trade is
required-

(A) Participation in international

exhibitions
(B)
(C)

Advertisement of commodities

Appointment of foreign sales
representative

(D) Allofthe above
BPO means-

(A)
(B)
(C)

(D)

Blue print outsource

Business physical organisation
Business process outsourcing
None of above

Surplus population engaged in
agriculture can be gainfully employed in-

(A)
(B)
(&)
(D)
Commercial resource is-
(A)
(B)
(C)
(D)
Inflation means-
(A)
(B)
(9)
(D)

Animal husbandry
Fisheries
Horticulture

All of the above

Water
Trees
Fish

Petroleum

Price fall
Price stagnation
Price rise

None of these

L ——————

16 RReN @O B qGE B KT TS -

a7.
38.
39,
40,

aoc

B) aggett @ fasma
() Rreh fpa R @ FRo

(D) I T
BPO @1 o1 2-

A) = Bie sTeead

(B) @EEH Mich TIST
(C) aE Sk FeeHd

(D) & § Hg T

R SEE o B ¥ g & AR
& T & eI AT

(A) g &
(B) Teell U H

(C) armEr H
(D) IR gt #
qifoifas dree &
(A) 9t

®) U

(C) wasHt

(D) sferEm

T R #@ oo R-
(A) T T
(B) T # Reram

(©) T 7 IR
(D) Cﬂé’fﬁﬁ%ﬁ?ﬁﬁ
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. Promote to reduce unemployment--
(A) Large Industry

(B) Decentralization

(C) Investment

(D) Small Industry

. Bad effect of black money on economy
is-

(A) Onlinflation

(B) On political finance

(C) Distribution on factors

(D) None of the above

Income theory of money is improvement
on-

(A) Saving

(B) Investment

(C) Quantitative theory of money
(D) None of above

. Census of production method
measures-

(A) Gross domestic income

(B) National income

(C) Netincome

(D) None of above

Causes of unfavourable balance of
payment is-

(A) Current account

(B) Capital account

(C) Devaluation of money

(D) Balance of trade

41,

43

45.

C

Aol @ W & g e Ry
(A) w2 zar @

(B) faddmor &

(C) fafwdr ®

(D) B2 g W

.S A w ordagEe g qg At g

3
(A) T whf gt

(B) e faer gt

(C) WAt & e g1

(D) Iges # & @t

g & qeq @ o feate fee o ow
gurt B-

(A) ®Ea g1

(B) fafaam gt

(C) wftwror far=r Wt

(D) e # & i

A or fafy @ A o B-

(A) waI iy S

(B) Ui 3

(C) & o

(D) auger A & B Tt
ofvge I R & w B
(A) ®rg

(B) ¢t @

(C) FA & g

(D) =M He
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46. A man sales two machines at the rate of

47.

48.

49.

¥ 395 each. He gets 10% profit on one
machine and 10% loss on another
machine. In whole transaction there is
profit or loss will be-

(A)
-(B)
©)
(D)

The purchase price of suitcase is ¥1,530.
What price he should note on the

suitcase to get 20% profit on suitcase
after giving 15% discount-

(A) 1,840
(B) 2,160
(C) 2,240
(D) 1,620

No profit. No loss
1% loss

1% profit

8% profit

A,Band C are partnerin a company. In
any one year A got 1/3 part of profit, B
got %4 part of profit and C got ¥ 5,000.
How many rupees A got as profit-

(A) 5,000

(B) 4,000

(C) 3,000

(D) 1,000
If\/9=3then\/-9=?
(A) 03

(B) 0.03

(C) 0.94

(D) None of the above

e

46.

T——

o e & 99E F @ 5B B 3395 F
Yo B T W I 10% T IR T i

- 10% & B B R AR 7 IEw AW g

i 3 |
(A) T @, T &

(B) 1% &M

(C)
(D)

1% @™

8% 4

47. G e e #9 5d 1,530 B, THRR

Qa2

48.

49,

B W I R B ik S
B b 15% BT 3 B 9% ITH 20%
W N -

(A) 1,840
(B) 2,160
(C) 2,240
(D) 1,620

A B3R C @ ¥t & Reder & Rl
9t A AR AW @ 1/3 W R, B @)
%M iR C 91 2 5,000, 99 A |y
3 & @oU Ra syT B

(A) 5,000

(B) 4,000

(C) %3,000

(D) %1,000
qﬁ\/.q:sﬁr Vo=
(A) 0.3

(B) 0.03

(C) 094

D) 3w & ¥ 3 g
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S0 Numberm 1.2.34.56.7.8.9whatwil be

meadian-
A S0
B8 S8
© 4
D) 4

. Atfirst industinal Revolution started in-

{A) France

(B) Russia

(C) England

(D) Germany

Which is not a merit of Scientific

Revolution and Technical changes inthe

followang?

(A) Rising of capitalism

(B) Development of source of
transport and communication

{C) Rising of handicraft

(D) Construction of cities

Meaning of Reimport is-

(A)  Onlyimport

(B) Onlyexport

(C) Import for export

(D) None ofthese

Which business organisation shouid be

selected when capital is sufficient for

commencement of business-

(A) Soletrade

(B) Partnership organisation

(C) Company organisation

(D) Co-operative organisation

- -

51.

-

3% 1,2,3.4,5.6,7,8,9 & wivww T &7

A) 50
(B) 55
(C) 45
(D) 40

dafe S TERm T 8-
A WY
(B) &
©) &®
(D) S

Freiiyg § @ ¥9-8 dofe s @
T qREdw N Rdwa =8 R

(A) TR | 9
(B) TREE @ H§uR P WAl W e

(C) W § TN
(D) TR = st

gHivRIG AR W A 3

(A) T I ]

(B) Iaw fwaia |

() fala 3 i o /

(D) ¥+ &

IR AR TN FA B i g7 aivs
G @ SEEET 8 O R g
TR W TG BT iRT?

(A) THR FNR

(B) TRRR TRH

(C) FI N TN

(D) T TR

B.Com./1100



S7

For the business secrecy aspect most
appropaate DusNess §-

(A} Soie trade

(B) Jont HIndu F amily business
(C) Co-operatve Socwety

(D} Pubic Enterprise

"One man control s best in the workd f a
man is able 10 contro! and manage the
Dusiness " Sad by

(A} Kimbai and Kembal

B)  Wikam R Besert

C) Harvey

(D) None of the above

The redation of prncipal and agent
Decormes

(A} Soie race

8 Patrenhp

(C) Coownershp

(D) None of the above
Owrer's habsity & undrmiled o

iA) Soie rade

) Pavenhyp

C) Company

Oy Both (A) and (B)

A trwnoe parined aftareng majortty. he
ShOUAS Qive B puhc NORCR Sfer the Bme
s O

A} 2 monts

B year

(C) Gmorths

D 2years

O

Ny

58

sppertow wed @ Arefem & gt 3
watfew Joge oew B

A TR s

(8) wge fog e www

() wewh wi@

(0) b Tmn

ow aie W Rdww fwn o gdide )
uft ar e g oy R S W wwan W
rd Wiy w7 5 9 wea b

(A) fegn of feew W

B) v avo ¥ W
c Nw

©) R} 9t

wre gd sfeed W weew Bw b
(A mwd w2

B wRgh R

(C) wm-varftyen @

) R &R

il w oftve sedftey B b
(A) e w A

(8) whuh

(C) weph &

(O) (A) # B 9 A

o @ Toes B & e oem W
wiefre dvw srh wfen-

(A) 2 wid & by
@ 1wt @ sy
(€) 6 wh & ser
D) 2 vt & sy




61.

62.

63.

60. The law is given for registration of a firm

in Indian Partnership Act 1932 under
section-

(A) 65to69 (B) 56to59

(C) 561069 (D) 59t069

The registration of partnership firm can
be done-

(A) Attime of opening of the firm
(B) Atany time of opening of the firm

(C) Within one year of commencement
of business

(D) None of the above

Change in present agreement among
partner’s is called-

(A) Dissolution of firm
(B) Dissolution of partnership
(C) Dissolution of business

(D) Allof the above

The dissolution of partnership firm
becomes under condition-

(A) Entry of partner

(B) Retirement of partner

(C) End of partnership period

(D) Losing concern in partnership
Issue of prospectus is not necessary for
(A) Private Company

(B) Public Company

(C) Govémment Company

(D) None of the above

60.

61.

62.

63.

64.

as

ARG aEr) SRfgg 1932 3t a1 &
ST GRE 4 3 dohge $ ar ¥
ot &7 s B ™ R-

(A) 65369 (B) 56859
(C) 56769 (D) 59%69
TR B H I B T &

(A) SH H WG D T

(B) ®H #H WM F v fpar W
Y

(C) TN M A & TP a4 P I

(D) 3% & B &

WERR & 79 qaAE oevd § qRadH
FHEArT &

(A) B H gHGA

(B) URE H GHIGH

(C) =@qid H T

(D) IR gt

qERTd B & e e Rem § men
ST B-

(A) TEER & Ja9 89 |

(B) Tl URRR & SEHA TS FH
'rg

(C) TERER FH & g9d 8n |
(D) WEE # @ifF 8R W

yfyarer FriftE @ saws T8 2-
(A) e F |
(B) HiEwE FA
(C) a&d F=Ft &
(D) ¥ A HE 7&
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65.

66.

67.

68.

69.

Minimum number in public company
(A) 20

| 7

(C) 10

(D) 2

Articles of Association is prepared
according to-

(A) CompanyAct

(B) Memorandum of Association

(C) Both (A) and (B)

(D) Objective of company

In liew of articles of association may be-
(A) TableA

(B) TableB

(C) TableC

(D) TableD

A man who try to establish new company
is called-

(A) Promotors
(B) Director

(C)
(D)

The main documents to be presented to
registrar-

Managing director

Manager

(A) Memorandum of Association
(B) Articles of Association

(C) Listofdirectors

(D) Allofthe above

L2

66.

67.

68.

69.

6>

gt 9 % 4 OEE @

de 2 -

(A) 20

B) 7

(c) 10

(D) 2 _

g aritEE @ Frr Rear o &
(A) FE RT3 SFHER

(B) wiE @ Fram & FIER
(C) (A) T (B) NI

(D) F B L¥ B FIAR
g i & ©H R A G -
(A) TEA

(B) I B

(C) T C

(D) & D

T A N FE A e i
SATE BT 2, Fer 2-

(A) waiH
(B) fezmp
(C) u&= fRers
(D) wave=

Tﬁw%w‘ﬂgﬂﬁﬁmaﬁwg@
o B

(A) g 1 frgm
(B) wiT 3=f frm
(©) T g
(D) v w
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71

72,

73,

70, The minimum number of director in public

company become-
(A) Two

(B) Three

(C)
(D) Seven

Five

The maximum number of directors in
board of directors in company-

(A)
(8)

Ten

Fifteen

(C) Twenty

(D) Twenty five

Dividend is declared in-

(A) Statutory meeting

(B) Annual general meeting

(C) Extra-ordinary general meeting
(D) Director's meeting

Which work is not done by liquidator of
company-

(A)
(8)
(C)
(D)

Realisation of assets
Taking loan
Payment of liabilities

Distribution of surplus money
among shareholders

Methods of winding up of a company
according to Company Act are-

(A)
(B)
(C)
(D)

Two
Three
Four
Six

Th

74

73.

74.

an

e FoR B g J YA qEes
B ¥
(A @
B) =
(C) dra
(D) wrd

FUAN P GEU@H-AUsA H HAad D
Jftreay gear gt &

(A) TE
(B) THE

(C) ¥\

(D) =i

avie e e o ®

(A) Jufre wwr &

(B) afi® aramer g

(C) STEIURYT §rg | |

(D) Hars # v &

T B e BIF-T B e FRal-

(A) duRrdt B agd B

(B) FOT A

(C) aal ® YA HEA

(D) onfteRr &9 & SigeRAt & e

FR AT & HIER, FG B GHH
# fafat &-

(A) @

(B)

(C) TR

(D) ®:
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75

76.

77.

78.

79,

First chain of distribution channel work-
(A)  Wholesaler

(B) Retailer

(C) Producer

(D) Consumer

Wholesaler provide financial help to
producers by which way-

(A)
(B)
(C)
(D)
Bata shoe company is a-
(A)
(B)
(C)
(D)

Cash payment
Advance payment
Facility of loan

All of above

Departmental store

Co-operative consumer store
Chain shops

None of above

Self-service system is used in-
(A) Departmental Store

(B) Chain shops

(C) Super market

(D) Allof the above

An agent who is mediator in sale and
purchase and fix deal in the name of his
principal is called-

(A)
(B)
(C)
(D)

Factor
Sales agent
Broker

None of the above

75.

76.

778

78.

79.

ag

faer e BT B B WY g
F &
(A) 9% AR

(B) HEH &AM
(C) TI@rEH
(D) I9HH

i A Frfeted ¥ & B ey 3
Zr Fiett # e wema s b

(A) T g
(B) B P

(C) T i
(D) ZTE @it

T g F T Th-

(A) fawrim s=r

(B) SUIRAI WEHd Yo
(C) siEd % =R

D) &4 & # w&t

T A TS oo oy 3
(A) faart ser

(B) Fudew e ¥

C) TR T=x §

(D) I &t

@rqﬁzmﬁmﬁwm%w
gﬂm%w@f@mmmﬁ%aﬁ%ﬁ

(A)  sefrn

(B) fesry wSiue
(C) =

D) =% & 92 &
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80.

81.

82.

83.

84.

In case of mail order business the trader
will sent goods?o purchaser by-

(A) Parcel
(B) Insurance
(C) Registry
(D) V.PPR

The maximum amount of rupees can be
sent by money order-

(A) 25,000
(B) 2,000
(C) 4,000
(D) % 1,000

How many periods can be extended to
fifteen years Public Provident Fund?

(A) 1year

(B) 2year

(C) Syear

(D) 10year

The full name of PIN Code is-
(A) Postal Code

(B) IndexCode

(C) Index Number Code

(D) Postal Index Number Code

The negotiable instrument in which an
order to pay is given to bank-

(A) Bills of exchange
(B) Promissory note
(C) Cheque

(D) Hundi

ae

ﬁ

80.

81.

82.

83.

84.

B WA AR ) ar § SR W 8a
g sl e P A WAT-

(A) e @

(B) & &

(C) Wl @

(D) HoRodlo &

o omdT @ it T W1 T &
(A) 5,000

(B) 2,000

(C) ¥4,000

(D) 1,000

T=E U A WA MR an @ Reae
i 3 g qorar s g 87

(A) 1 a4

(B) 2ay

(C) 5ad

(D) 10 ¥

R #e & Q@ T ¥

(A) TR B

(B) ¥ FiE

(C) FoIR T His

(D) YT IR TR HS

g e Rred o S @ @

TAE & B AR Ry o ¥ a8 3
(A R e
(B) widsT 9
(C) =%
(D) gt
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87.

. . o et s A S

Management is the development-
(A)  of pecple
(B) ofthings
(C) ofbusiness
(D) ofindustry
The father of scentific management was-
(A)  Taylor
(B) Fayol
(C) GeorgeR Terry
(D) Appley
In an enterprise organisation is
established by-
(A Top Management
(B) Middle Management
(C) Lower Management
(D) Board of Directors
X and Y theory of motivation has been
propounded by-
(A)  Meslow
(8) Ouchi
(C) Herzberg
(D) Mc Gregor
The minimum parties to communication
are-
A 2
(B8 4
() 8
(D) 16

8%

e s ¥

A @ =

® g ®

(C) ={Eu ®

0 I W

Yo v @ R b
A T

(8 T

©) Wt .
D) TR

 oeew § RN @ W S

(A T=TH WS

(B) wwW SEN

(C) F= ==

(D) TN WS

T @ SR s w shaes
R ¥

A =

(8) ==

©) w=d

(D) R

TR ¥ W W N
A 2

(B) 4

(C) 8

(D) 186




90.

91.

92.

a3.

94.

The function of decision - making is of-
(A) Lower Management

(B) Middle Management

(C) Top Management

(D) Alllevel of Management

SWOT analysis includes-
(A) Strengths

(B) Weakness

(C) Threats

(D) Allofthe above
Delegation can be done of-
(A) Authority

(B) Responsibility

(C) Accountability

(D) None of these

The important role plays in the economic
development of any nation-

(A) Railway

(B) Road Transport

(C) Water Transport

(D) Allof the above
Acceptance is necessary-
(A) Promissory note

(B) Cheque

(C) Bills of exchange

(D) Bank Draft

Qe

00,

91.

92.

93.

94,

Fvolusr g B-

(A)  Frs v

(B) wwgy e

(C) e ww

(D) il sy wIY

wle Rgdmor ¥ g ¥-

(A)  sifena

(B) gaw

(C) gfewil

(D) A g

wrdor fear st wesar B-
(A) ST @l

(B) I @

(C) SHERE %

(D) & & M 98

feft ot g & onfles R § wecgl
i T R B-

(A) W uftEs

(B) WeH URae

(C) 9 uRaew

(D) ¥ |
Wiy H AT R-
(A) ufcET o=

(B) ©uH

(C) ffma o

(D) & gre
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87

Who makes payment the amount of
promissory note 7

(A)  Writer

(B) Acceptor

(C) Bank

(D) Creditors

Cross is possible in-

(A) Cheque

(B) Bills of exchange

(C) Promissory note

(D) All of above

In which account the amount may be
deposited many time-

(A) Current Account

(B) Savings Account

(C) Both(A)and (B)

(D) None of above

Which service is used to send large
amount by post?

(A) Postal ticket

(B) Money order

(C) By linsurance

(D) Postal order

The capital of company is divided in
many parts is called-
(A) Profit
(B) Share
(C) Dividend
(D) Interest

2
&

95

97

v an 0 o G B e )

et
I
(0) ¥

Yaie @ B

(A) % ®

) R R
(C) sfwn @& =
(D) @ & @ =
e @@ & Prelt arr a® s W w2
w5 B

(A) e T

(B) = @En

(€) () 3 (B) A
0) @ & = 78

h-af v % Zro W 3 B B
B = wdr B omen B7

(A) =% feme
(B) wi sy
(C) & zm
(D) e wmit

FE @GR e et ¥ &8 ad %
P wm wen B-

(A) &M
(B) oiw
(C) wmwiw
D) =

(A)
(B)
(C)
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100. Inwhich condition the court can order for
dissolution of firm on application of
partners-

(A) Lunancy of a partner
(B) Unexpected profit of firm

(C) Commencement of business
performance in foreign country

(D) Allof above

101. The system of recording transactions
bases on dual aspect concept is called-

(A) Double Account System
(B) Single Account System
(C) Double Entry System
(D) Single Entry System
102. How many columns are there in a
journal?

(A) Three
(B) Four
(C) Five
(D) Six
103. No Journal entry is made for-
(A) Brokerage
(B) Cashdiscount
(C) Trade discount
(D) Commission

104. Double entry system's rule 'Debit the
receiver and credit the giver' is

applicable to-

(A) Personal Account
(B) RealAccount

(C) Nominal Account

(D) Joint Account

100. %0 e 2 g A B 2 W
ocolic n o o
AR Z T B
Ay B0 T m o Z=
(B) =& # Zaia % 29
(C) %A zr1 2w & =397 778 Z7=
(D) 7 7f

101. fewim sammn o7 aafm #5255
s 7 oo @ oz A
(A) ZZT = 9o
(B) zzZ9 77 o
(C) ZB7 7=
(D) ZFE=0 7=

102. T & B &m (&) 33 &
(A) &=
(8) =7
(C) U=
(D) =

103. DoFrrel B WAE oo B3
e i B w2
(A) Zaat
(B) = %2
(C) ZWE T
(D) ZFHaa

104, 2271 7731 9704 & 555 95 32 T 5=
@ 3 3 B W A W e
(A) R R % B
(B) a3z T %
(C) 793 771 % o
(D) #FF a7 3 fm
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105.

106.

107.

108.
A
(8)

109.

Bad Debits Account is related to-
(A)

(B)
(©)
(D)

Personal Account

Real Account
Nominal Account

Suspense Account

Goodwill is-
A)
(B)
(©)
(D)

Floating Asset
Wasting Asset
Fictitious Asset

Intangible Asset

Which equation is not correct out of the

following equations?

(A) Capital = Asset - Liabilities
(B) Assets = Liabilities + Capital
(C) Liabilities = Assets - Capital
(D) Assets = Liabilities - Capital
Outstandiﬁg salaryis.......... for trade-
Income

Expenses

(C) Liabilities
(D)
Trial Balance is-
(A)
(B)
©)

(D)

Assets

An Account
A Statement '
An Information

A Summary

105. A O G B T B-

(A) ReT@ @
(B) ar«ia® @Il
(C) -HEHA @It

(D) I @I

106. ©A -

(A) TR Ha
(B) @M HaR
(C) ™S U
(D) vt W

107 * Fr=tfeiad TRl ¥ ¥ B W alm

a8 B

A) TN = g - i

(B) R = W@ + &
(C) wfE = ool - T
(D) HaRwEl = @@ - T

108. I F o TR AR B W ... -

Qe

(A) o

(B) =1

(C) T ol
(D) TH TR
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110. Balance of the cash bookis ....... -

111.

112.

(A) Debitand Credit
(B)
(C)

(D)

Debit or Credit

Debit

Credit

Under the straight line method of

charging depreciation, the amount of
depreciation ......... -

(A) Remains constant every year
(B) Decreases every year

(C)
(D)
Expenditure incurred on extension to an
existing property is treated as ......... -

Increases every year

Is not certain

(A) Revenue Loss
(B) Capital Profit
(C) Revenue Expenditure

(D) Capital Expenditure

113. One who drafts the bill is called ......... -

114.

(A) Debtor

(B) Drawee

(C) Payee

(D) Drawer

Registration of cooperative societies is-
(A) Voluntary
(B) Compulsory
(C) Harmful

(D) Desirable

Q2

111

112.

113.

114.

ooooooo

(D) <

TG AN @ G @ GEd $ SHad
g H AR ... !

(A) sfcad g9 &t &
(B). sited gecht = 2
(C) ufred =gt &

(D) i Mivea & 2

it feemme gt & faea oX femar
....... B -

(A) STRFI Bl

(B) Yot are

(C) AT =g

(D) Yo =1

o foer foraer ¥ 9@ @er oir 2
(A) FER

(B) w@ER

(C) Tkt

(D) EH

Fewrd affeat @& defie -
(A) s

(B) oiaEr™

(C) eI

(D) aie+g

ooooooo
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115.

116.

17.

148.

119.

If payment is made before average due
date then debtor 1 allowed-

(A) Discount

(8) Rebate

(C) Brokerage

(D) Commission

partnership is formedasa resultof ...~
(A) License from Government

(B) An agreement among individuals
(C) A central legislation

(D) Astate legislation

Which one of the following is capital
expenditure?

(A) Cost of annual advertisement

(B) Purchase of a delivery van

(C) Purchase of raw material

(D) Purchase of machine oil

Income & Expenditure Account is
prepared by -

(A) A Partnership firm

(B) ABank

(C) ATrading Concern

(D) Anon-trading Concern

The main object of Ledger is to ascertain-
(A) Totalsales

(B) Total purchases

(C) Profitor loss of the business

(D) Neteffect of all the similar nature
transactions

Qe

116.

5

118.

119.

(C) =R q& &l
(D) =i @& &l

maﬁmg@aﬁﬂﬂm}
A Fo T

(B) Fa A :

(C) =R = ¥ &

(D) @m%ﬂﬁé‘ﬁﬁﬁ
QRO

i
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120. If a Trial Balance does not agree then 120, afd qerqe g ey 98t B B, et v

accountantopens............... . 1L A T T P Ca -
(A) Drawing Account (A)  OTIEToT e
(B) SuspenseAccount (B) eree @ren
(C) CapitalAccount () ot @
(D) Nominal Account (D) WM @i
121. Balance sheet shows- 121, anfle e aafen B-

A) Gross profit of fi ial o :
) PIOHOTHIBGHE! pRtoR (A fadg aata e wme e

B) fadiy ambq @ g arv
(C) uw fafw fafy qe fad feafe

(B) Net profit of financial period

(C) Financial position on a particular

date

(D) All real, personal and nominal (D) wweer arcerfeen wifenmer od s @
account arn

122. Outstanding expenses are shown as: 122, arad &gy @ s & @y i R B

(A) Anexpense (A) UH &y

(B) Anincome (B) UH 34

(C) Aliability ©) @ af

(D) Anasset (D) U TR

123. The book containing a chronological 123. g% ) fraet -2 @y W"i"‘fq‘ﬁ an i

record of transactions is-
(A) Journal

(B) Ledger

(C) Trial balance

(D) Balance sheet

124. In case of hire purchase asset account

is debited with-

(A) Cash price

(B) Contract price

(C) Hire purchase price

(D) Cost price to the seller

124,

aifter faar omen ® spwenen B-
(A)  QuFTEN

(B) w@rar @t

(C) daue

(D) onfde fergr

farar ) feafer 7 fer & Bfae famn
otrer B-

(A g g B

(B) wfaer ye @

(C) foa wa yeu A
(D) faden & arr g @
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125. In case of installment system totgl
interest receivable by the seller 18
credited to-

(A) BankAccount

(B) Interest suspense Account
(C) InterestAccount

(D) SalesAccount

126. How many parties becomes N
Promissory note?
(A) Five
(B) Two
(C) Three
(D) Four

127.AS- 26 is related to-
(A) Intangible assets
(B) Investments
(C) Depreciation
(D) Net profit
128. The Receipt and Payment Account is-
(A) ANominal Account
(B) AReal Account
(C) APersonal Account
(D) AStatement
129. Under Hire Purchase System the
ownership of property remains with-
(A) Buyer
(B) Owner
(C) Guarantor
(D) None of the above

126.

127.

128.

Qe

125

129,

Wqﬂfﬁﬂmﬂ,mmm

o s @ A
@ @
) = @ A
o) P @

m-qaﬁﬁﬁﬁwﬁﬁg?
A) =

(D) UwF aor o

Retr w5 el @ orri WO W @R
T I @ 2

(A) &

® @

(©) sfergfr e

©) 3o # 3 ¢ 7@
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130. The credit purchase of fixed assets are

131.

recorded in-
(A) Purchase Book
(B) Cash Book

(C) Journal Proper

(D) Sales Return Book

Premium received on issue of shares
canbeusedfor................... -

(A) Payment of dividend

(B) Writing off preliminary expenses
(C)
(D)

Payment of director fees

Redemption of debentures

132. Profit prior to the incorporation are an

exampleof.............. -
(A) Capital Reserve
(B) Secret Reserve
(C) Revenue Reserve

(D) Statutory Reserve

133. Profit on cancellation of own debentures

should be transferred to-

(A) Profit & Loss Alc

(B) Profit & Loss Appropriation A/c
(C) Capital ReserveAlc

(D) Reserve Capital A/c

QP

130. R wwafy &1 9u %9 ofeRad Rear

131.

132.

133.

ST 3-

(A) #a &

(B) g =&
(C) SiHa AT
(D) foent arqeht s&

et & i | o wesh @ SwE
fobar o TR B =

(A) I O B fae

(B) uRPWH =t & sraaEd 3 fg
Helers B B T B e
(D) R G F TR P fw

A | qd & T T Sae § .-

(A) T HIT B

()

(B) T g H:
(C) emqaimasr
(D) Quifvrep =g &

HE FOT 99 B FRENHOT ) A ay
I=IRT HT =fe- :

(A) aw-g= @@
(B) @m- &M R @mr
(C) Tt e @

(D) H=d Toit @
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134,

135.

136.

137.

A, B and C are partners sharing profits
and losses in the ratio of 2:2:1. C retires.
The new profits and losses sharing ratio
batween A and B will be-

A 11
(B) 21
(C) 32
(D) &3

Goods valued Rs. 3,600 lost by fire. The
insurance company admitted a claim for
Rs. 2,000. What amount will be shown
in Trading Account?

(A) Rs.1,600
(B) Rs.2,000
(C) Rs.3,600
(D) Noamount

In which of the following would an
adjusting entry for depreciation be
made?

(A) Cash Book

(B) Joumnal

(C) Sales Book
(D) Purchase Book

The Goodwill brought in by a new partner.
is withdrawn by old partners in their-

(A) New profit sharing ratio
(8) Oud profit sharing ratio
(C) Capital ratio

(D) Equally

134,

135.

136.

A Bt C g ¥ o ol g
frcen 2:2:1 @ OGT A @ Y C oty
o) e B A ot B & e -y
. [verer OTgU -

A 1

| 21

() 32

D) 53

3,600 §. & i wiet o A A 8y
g Al el N 2,000 6. W wEn W
Ry SR A 3 Rl o R
-

(A) 1,600%.

(B) 2,000%.

(C) 3,600%.

o) @ i T

Ry § & -8 TR R
¥ fore R st ¥?

(A) AHE @

(B) SN

(C) Repa @

(D) WA @

137. mmmmgmwm

€

T e o -
(A) T aW e A
) JO T oo 3

(D) HUR-gER
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138. Which one of the following is an example 138. fret & Q O I-g g H ITET -

of non-cash expenses?
(A) D iati (A) @94
epreciation
B) weigdl qur 3=
(B) Wages and Salaries (8)
(C) Telephone expenses (C) FTHH &y
(D) WSS =g

(D) Administrative expenses

139. Which one of the followingis notacash ~ 139. =i & @ &9 J%g ar=als et -

I (A) g TRt & 9
:;\: Zulrch:se o; fixed assets i i e
ale of goods
(C) Issue of debentures (C) FT Gl F frie
(D) wrg Ty 3 faa

(D) Sale of fixed assets

140. When total sources of funds are more 140. 19 B B FA i, PN S FA ST A

than the total applications of funds the afv & ¢, Iew Y& TwE -
net effect is- <
(A) Increase in working capital =R ?ﬂ " ?f?
_ : _ (B) Fwdshar goft & i
(B) Decrease in working capital
(C) Increase in total assets © 3 e QRs.’
(D) Decrease in total assets D) % w3
141, Which one of the following is not added 141. qRae= q S $ 9 H O A o
to the net profit for computing the amount Fr=fafad 3 @ g 7 & g& aw 7 78
of funds from operations? Arer S 87
(A) Depreciation on machinery (A) =\ 9 B
(B) Profiton the sale of plant (B) wiT # fa@ w am
(C) Goodwill written off (C) wd & T
(D) Loss on the sale of furniture (D) wiaR & R § afy
142. Which one of the following is not an 142. fy=fofad & | 19 Het & Ig@e T8 -

application of fund? A) T H Wﬂﬁ

(A) Repaymentofloan

(B) Acquiring an asset in lieu of equity (B) I il & T W
shares (C) M gt & Rfrew

(C) Redemption of preference shares (D) @THiST CUGIE]

(D) Payment of dividend
3 B.Com./1100




143, The flow of fund is said to have taken
place when-

144.

145.

146.

147.

(A)
(B)
(C)
(D)

Cash is paid to creditors
Cash is received from debtors
Machinery is purchased for cash

In all of the above cases

The schedule of changes in working
capital is prepared with the help of-

(A)
(B)
(©)

(D)

Current assets

Current liabilities

Current assets and current
liabilities

non-current assets and non-current
liabilities

Dividing net sales by average debtors
would yield-

(A)
(B)
(€)
(D)

Acid test ratio
Return on sales ratio
Operating ratio

Debtors turnover ratio

Higher the ratio lower the profit ability is
applicable to-

(A)
)

Gross profit ratio

Net profit ratio

(C) Operating ratio

(D)

Return on investment

Net worth of the business means-

(A)
(B)
()
(D)

Equity capital
Total assets
Total assets minus total liabilities

Fixed assets minus current assets

143.zﬁ|ﬁﬁm‘g§3ﬂﬁam‘3ﬂm%§ﬁﬁx
(A e 1 % BT B o
g T @ T T E

©) mmnsﬂﬂﬂiﬁﬂﬁmm

o) I o

ey R
g & & ST &

@ T

@ =g A d

(C) a@mﬁiﬁaﬂ@m%

() e a3 - A &

145.9\1@&(@@@%%@%?&%%
R o e
() cftre e ST
B) fospa o w ST
(C) uftena I
(D) &R SEd ST
146, ‘1 ST, = s’ a3 &
(A) THA @ I T
(B) g& AW I W
(C) uREmeH U I
(D) RFEM W gEE W

144.

147, R B g W B S B
(A) T o
(B) T T
(B) @ wfwr - Fa afdd
(D) = gy - =g W
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148.

149.

150.

In calculating the return on shareholders’
equity the denominator is-

(A) Equity capital

(B) Preference capital
(C)
(D)

Equity capital + preference capital

Equity capital + reference capital
+reserves

Which one of the following is not an
Operating expenses?

(A) Office expenses
(B)
(C) Selling overheads
(D) Postage

Interest

Which one of the following items is not
taken into account while computing
current ratio?

(A) Sundry creditors
(B) Sundrydebtors
(C) Furmniture

(D) Bankoverdraft
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